01./2019/41/STE-L 11

(G © 88T GiE8H ! gpagts uglinfeneupoiwis) | All Rights Reserved]

-

ISTE[ 1, H]

-

68w m it Serkenal LILTE et

gonum ewg wulnm ur (B@ms evug) DG, 219 e @0
el QuTEs SIS usAr (Frswen sNU ufles, 2019 pOFbLY
General Certificate of Education (Ord. Level) Examination, December 2019

([ B ( BIC®) Lif
FRISHID Giosmevd8xuwt) I, 11
Music (Western ) LI

oS el . e 2850 Sod® mEn . @R 10 8 )

apshg wsKAB Bl BuweBes eamdoy Gpy - 10 BifLRiss

e Titns Additional Reading Time - 10 minutes |
.

.

GOHC B0 mes e ogrk HEd) gdn et CiHDE BENC BDEE pBRHIDn ecw (i l]
woDinee M MEL0d emOdD.
Aemustrsns ardig, sanssmas Crflatrinsded oL awsbturg (pagifiern aenGD
slamesma QutsaPEEE Ostdiaghed Goads ardiy CErémsl LuaLGHHS.
Use additional reading time to go through the question paper, select the questions and decide
on the guestions that you give priority in answering.
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[ cicBo gadessiun/ Note :

(il) @90 weews BEaUr vged O & gdvn g § o 98 caedsl B8 emid od BEmel wumad eruegm

(iv) 60 BEnu; oned 8ges § o gerd coeed ¢ eeBdecs’ Beds, dds ¢ Bgoluim,

(i) Boc @ gdoico 88nd sowsmim.
S16060T oIS EEgGE@HID allen. Hihb.
Answer all questions. ;

(i) 140 eod geooe (1), (), (3), @) BEnoofsl B8Ot evl i wgeuvn el BEQC eoid osim,
1 GuaLdmib 40 suspusien @siGeurg sfiamrofoutd (1).(2),(3),(4) e sresiiil UUCL oo et Ffluires
Sigvsog sl Gurgphswore allmtenug Laflaisis.
From each of the questions I fo 48, pick one of the alternatives (1}, (2). (3), (4) which you consider
is correct or mest appropriate,

2oa me (X) cas cwesis.

o I0d@ supRsSLLLGeeT efLdhatelsd @aiGane olamabse 2 i aul’ L.iusalsh o 10
s ulsh @ssdbms @55 alLsSH@snGar usiengaow (X) BEs.

Mark a cross (X) on the number corresponding fo your choice in the answer sheet provided.

allenL GHgTefel OPLSESESN SITULHaT6H whHmmL YIS HEOH@ETHLILD HENAIOTS sutdihg Senbenml
(01 T3
Further instructions are given on the back of the answer sheet. Follow them carefully. )

can € B il om eg gy 088 Bdestocs Dries BB B ¢?
Westsumeuenauigs SIULILGeftsn LTT BH@U QUITbHST6T englh HaGanssy am?
Which of the following is the correct time signature for the given bar?

; N ',;’_Lm
Ok @) 3 33 @ %
LoD ¢Eedn wdn Bl & 088 BderiDcud gmY wdglien E80 e edld § a5 S8y @ ¢?
deieumd Sevs ung  Geoen oph ASCmEsBEG GhU  UIENTEGUIDGS Gameuunen  GpedL

FFOULGehsmaupmist emi?
Which of the following rests would suit to complete the given bar according to the time signature?
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SO Belar Hlewi_sHe0 gams Beveors e sen GOmrsl Unisst sigsmen?
In the given illustration how many crotchet beats are silent?
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Which of the following notes is five tones below Middle C7
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2 48 «80u0 8l 78 gue 006 vum wemn’ F88a] pdss ¢?
UlsrauheusteuBmistt SruL Geen ebaurSoidbe Gwomy 7 Guweoren srbeuyih egl?
Which note of the following would form a Major 7" above the given note?
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aEZed Wecr 8 Hedded vue ogedB ecdll 8ved ¥os dles’ vom JDHBT e ¢?
Ueumeuseubmist Seb@yr dlensll Hsir sbGysit Biyend SCp (paeumd Qv emsvellelr srhsupTeus) a1g?
Which of the following is the letter name of the note on the first Leger line below the stave of
the Alto clef?

(L A @ C 3) D “ B

g 418 secd golsl vom dSoan Ei? 5@ sy ento giled @ ¢?

UL Hefren  HblereumEnsh Lsdisurhd edeugth E apeugBial vweuBGhs Cosmiguig eigi?
!

Which of the following clefs should be used to make the given note B9

be

e = (2) HE——=5 OF ) M

Fe0d dot ne o cois oein emidam 7
a&Grel eanlans adhsenar Guraiss o clreren?
How many tones are there within any octave?

(1 3 @ 4 3y s 4 6

om® 8 Bderiode ubn denE goce Dyed e8H8s @t ¢?
Heeumeuenaubmiell 955 & FalGaFganys CsrsmiL e0lsseliar Gomg eg?
Which of the following pairs of scales would have the same Key signature?
(1) Bb major/Eb minor (2) F minor/Ab major
(3) C# minor/D major 4) E major/C minor
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13,

16.

2 B So08x3 @8m Jubun uefHS ouitlors dules) p@sl (7
siraurpeusisuimett evweny Lywbies ppemd BeGass sigi?
Which of the following is the 1* inversion of a minor triad?

0

1) =1 @ ¥FFE—1 ® e

2 1S S8 BEOE Gwd ©bin Osles @S (7
Uaaupeuemaibmst  Ueorausd Birssms @bss sihl?
Which of the following is similar to Bilawal Raga?
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Which of the following scales is associated with the given chord?

(1) A major (2y D minor (3) F major (4) A minor
o 301 gubsd & ¢f Jude Bend »dn cATest pe@Bal ¢?
Demugseeauipe sioul@eer Lqwh Beven elaufilug s’

Which of the following would describe the given triad?

I b (2) Ve (3) Vb (4) Ivc

€ o g0 gobnd pom cubce cod Ble@ss, Do Moy AL WOGws TWad 28 64y Cled ¢?

eitaugpeueraubmiet  abHl  GuLedmar  SghsIbCLTE. BeFsslLUBh  absugh Gan.gbe @eidgis

Gty @b ?
Which of the following pedals, when depressed would sustain the notes played?
{1) Unacord pedal (2) damper pedal (3) soft pedal (4) sostenuto pedal

g S exrins Sund mip caves 857 p@ds ¢?
estsugseuseupaet @y Beiten Ba e et ofeuflinig g1’
Which of the following describes the given cadence?
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(2) Plagal cadence in Bb major
{4) Amen cadence in G minor

(1) Imperfect cadence in C minor
(3} Perfect cadence in B major

‘Buoods Bo o grifert @ oni® 8o ¢?
‘anfuyngeries’ aem Suesh ehs augelisd (form @) eigpsin Geiang?
In which given form is ‘Humoresque™ written?
(1) Ternary Form
(3 Rondo Form

(2) Vanation Form
(4) Binary Form

"

[4 B BOE Beaw, / ud. 4 gm0 unfss [ See page 4
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17. 2 18 geomdens ogeits ecries oo 205 98s ¢7 A
Ustaugmeussteubmstt syt Beion gienGiosin Hever afleufilug sgl? M%
Which of the following describes the given ornament? [

(1) Mordent (2) Acciaccatura
(3) Inverted turn (4) Arpeggio

18. Z &8 0:85 no» egdvins e 80 ethinsid enitls B8 womess ¢?
1 RefreugpasateuBuei CimeRd Qanidad Gmisran Cam’. Gevear uvwuaLBHS o meuren BaLsierd sig?
Which of the following cadence is made up of the chords tonic to dominant?
(1) Interrupted cadence (2) Perfect cadence
(3) Plagal cadence {4) Imperfect cadence

19, 500w guls S [ 08y Bowes dxfert nos ¢?
sroeuy il QLeoTd am Leitard r STEiLIGENTed G LUGeugl eresier?

What 1s indicated by a dot above a note I ?
(1) Play the note with an accent (2) Play the note smoothly
(3) Play the note detached (4) Play the note adding half its value to its length

20. 2 g8 &bs onlst dm 80w gres) p@m Digs waadDad ¢f
Uasugpenarsuiimet Sal f Qenend Qanemn. Sassamel sm?
Which of the following is a single reed instrument?
(1) Trumpet (2) Clarnet (3) Oboe {(4) Bassoon

21. Deme OB GHIE0 ik slendll vuwl swED B0 »edm Digs WeDe Jres RS ¢7
HeonsbatLBD abeaydsms ol obhal Cuitus Sprs gead supib Hasssmed sigl?
Which instrument sounds a perfect 5th lower than the played note?

(1} Piccolo (2) Cor Anglais (3) Trumpet in Bb (4) Clarinet in A

22, oobn S enlsl olps wdn snebos Oolest nos ¢?
Uairauhausisuimsi C8gnst Qenadsmed eim?
Which of the following is the drone instrument?
(1) Oboe (2) Mandoline (3 Tampura (4) Sitar

23, 2 g8 w80 aelde B!’ 800 vemsl Sucmne U 80 grensien @ Dogiers’ ¢dedm gimicnd ¢?
srinn @ean  @evst Quwitny BT Lpbus G SossatiudiCurz  aminestauBmiesT  sided

G O Gelienaungy Caladbamipuisns Eips@h? !
Which of these would be heard when the given musical extract is played on a Trumpet in B ?

3 = - : )

24, 2 g8 doce Doy 0 gimdo qElebsiest @Rl ¢f ;
S Baen adafsms Baghoid slsd Geabpe afled efeufidatiog Gsieng?
Which ilustrates the way the given note is piayed?

M ® JJ @)
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S
[5 &8 600 Qeao. / uk 5 gl unss [ See page 5
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25, oon Febn R goiwe HH0F e 7
\Testou(heusmsuimist Ffiwimen Salbm 61847
Which of the following is the correct statement?
(1) The Trombone plays the soprano part in the Brass section i
(2) The Piccolo sounds an 8% higher than written.
(3) The Conductor tunes the orchestra. ‘
(4) The Saxophone is an important instrument of the orchestra.

26. & 8 Dused ogenm B0 8e gres 851 p@n dd@em ¢?
&IULE Beiten areALISHIGGH Gurddsiot sflwrel shmb Seabps srdled o 6irergi!
Which of the following would be the correct thythm to match the given sentence?
“Yankee doodle came to town, riding on a pony.”

SRS I T 0 A 5 0 e A A
o 84 JTI DL b

SR e I s s [ RS I P A A’

w 34 JJTTNI VL NI

27. Bsieds S 0idn ndsiest 8 npBn
Peaumpeusisufmen srdled UEhGFT LTRSS ILBID?
Which of the following would use the Banjo?
(1) Folk group (2) Pop group (3) Jazz band (4) Brass band

28. @30 et doow me sduwwed nis miBon Dules’ vwd 2@ ¢?
Seiraimastouhmeh ‘apsssnsouls Gamenpor Bener Suwibfu Geng b pia wHHGoTm Genguimdald

&’

Which of the following is another composition by the composer of ‘Moonlight Sonata’?
(1) Nut cracker Suite (2) Mikrokosmos
(3) Petroushka (4) Fidelio

29. ‘Bogo 93 ¢ obxl BBD Bow ewed ByBnd on dFes’ B REW ¥
Seitaupaamapmet ‘Sndn B & Gpular e LFLedwl um.sb o kel 1By dlaed sigl?
Which of the following musicals has the popular song ‘Singin' in the Rain™?
(1} Mary Poppins  (2) Wizard of Oz {(3) LionKing (4) Sound of Music

30. ‘Bodmtetn’ am enlhi@0 86ide ¢bide eqiers’ RBm vew ¢?
FLILABLT eenime aBisshdEmsd HHb GFmsd a5?
Which term gives the opposite meaning of ‘Ritardando’?
(1) Crescendo (2) Larghetto (3) Vivace {4y Accelerando

31, 2 B J085 'odd® oBma’ 09 ©8830mbuns ea¢sbdes 00z ¢?
Gesmupaenaupmet LGmagmd Buyds 2 L& Osriilseng Goms qssb sg)? ;
Which of the following compositions is not associated with ‘Programme music™?

{1) Pastoral Symphony (2) William Tell Overture
(3) Scenes from childhood (4) 1812 Overture

32, ‘Hecol B gt By woduww cum ngnn goens’ mEU ¢
WarumGaunflsy ‘Henuiy 19 et Bt Bevs by w?
Which of the following is the composer of ‘Clair de Lune’?
(1) Liszt (2) Debussy (3} Gershwin (4) Schumann

[ 64 B0 Res. / 1k, 6 gl uthds / See page 6
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33.

34.

35,

36.

38.

39.

008 Bowd bdes’ 85 s ¢?

teraumeusiouBmish [BIL. B L0 sigl?

Which is a song from a Nadagam?
(1) Suwanda Padma (2) Danno Budunge
(3) Shantha Johnge Weediye Kade (4) Wasana dineki

B DBTeds’ Bund miy eRvles Sud wulidoned ¢B8m ausda ¢?
Ueisugpaueraubmiet abd pssdar blogh afgh SgmsT awrnbded alafidalinGang?
Which animal’s gait is described in the Thuranga Vannam?

(1) Horse (2) Rabbit (3) Elephant (4) Snake

Renmtic mBes Drert 8% »OdE ¢7

UsdisupoueiiauBine gOloedlged Sibsb g7

Which is an orchestral composition?
(1} Liebestraum (2) Gollywog’s cake walk
(3) Lohengrin {4) Bolero

Z 5B woBozost ool &l ©ddos udn Bl emcEddes mbed:s ?
Uleeumpld e s d@EIaaisy greh Beauj el OgTLfldbeongeul wii?
Which of the following composers is not associated with Jazz music?

(1) Louis Armstrong {(2) Prokofiev

(3) Scott Joplin (4) Duke Ellington

ans cuselin ol Dol grmne e o7
Ladreucn ausouBmist  LIGIPWITEN oy stsl?
Which of the foilowing is a false statement?
(1) MIDI is a standard way of connecting one keyboard with another.
(2) Synthesizers can record, edit replay music.
(3) Dls wse a mixing desk to combine different tracks.
(4) Sampler is a picce of equipment that can record, process and playback bits of sound

OB aBumvens vl Ba Belq 8 fedsient wwm § g8 R8@m Bdmenyd ¢
Ulsirsupevemsudpslt weaGlLmedls geindsd Qugkursl UWeLGSsUUBE proyuseliar atialismamis
@EOGGugE ami?
Which of the following states the number of strings commonly used in a mandolin?

(1) Four double metal strings {2) Five single strings

(3) Six single strings (4) Eight double mefal strings

Bment o@w ©nBn mom 8 o @ ¢?
tlefianpeusraubpyst 1JunGam wirhdird wweuBdssiubGd e sbsh aml?
Which composition uses only the Piano?
(1) Blues (2) Swing (3) Ragtime (4) Be Bop

¢ 98 Snlin 8 B0 d»d ool emddes I3 wOcE ¢7
Usheumsusisupmist Lobdnh 8¢ 2 fidseiarss agi?
Which of the following does not belong to a Drum kit?
(1) Floor Tom (2) Ride Cymbal (3) Tom tom {4y Conga drum

A
[7 &6 80D Beaw. / ub. 7 gl uilshs [ See page
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General Certificate of Education (Ord. Level) Examination, December 2019
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waBrmca (gecle) / sridsn (Bwamssw) / Music (Western) 11

( 1 o oGex ad® A m B emnodiEs gdm ecp 88 eminewnm, g cond BEnd: e0® ogsed & wowwdn,
b1 ey sileonr 20w usd A, ueH B esuaplsnbs Sselyend olombsmms OEflobFiml, 66HeRIbITS
whp olenssanhd @sstaitaotu oiml HHs.
Answer five questions including question No. 1 and selecting two questions from each of the parts A and B
on this paper iself.

[ S gomes [ siGiew /Index No. ..o j

For Examiners’ Use only

{41) Music (Western) H
Part Question No. | Marks Awarded
. | Final Mark
[ln Numbers
2
tln Words
A 3
5 Code Number
Marking Examiner
B 6 :
Marks Checked by:
7 | 2
Supervised by
Total

oy

| § &5 800 Regde / vb. § gol wiiids / See page 8
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SBip Byt Been Heost)t Gl SpuETaigg Gal o Gsion olemdsaheg el upsis.
Study the musical extract given below and answer the questions.

Allegro
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(i) 0@® mifio G eBdl demced 0d. 89T £ Bdesloss w.do ydmoed gog w2 guaes wdvio.
Bbs apdbmd G Gl abCaed Basieng. sflwme & AdBuidomy Bms sOCEIHHEG GLITmGH SIS
2_LUGSHIG.

This piece is in G major. Insert the correct key signature appropriately in the music score.
(i) ¢@8 088 B8derfica Boein 0 B0 gEmdedd gres mdsle.
Boen ayid AsGumbsm)sh Hnorelbhs owns oo ev@anflsd » 1 @dam.
Decide on the time signature and insert it in the score,
(i) (8) ogf omled & mbins 858 8 dond e®Byedd ed ¢?
apgsd iflelled @yinin Gelien Gensr aihs & Big GoTgu@eol eydwma?
To which key does the music modulate in the first Section? ........ooviiii i,

(b) @l qom wgwst wczt,
2 flur uAlf Eevdahiseens GRS,

State the bar nUMbDETS CORCEIMEA. . ... i ittt e e e, p
| 9 28l 86 oo, / ub. 9 el Lmdae [/ See page 9
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(iv) @B qom | =2 8 gnd eiBs B teosd o} esdeld dw ‘A’ ecs cRe »d erfdsine »® I,
1y @edsn | -8 euenr Guuaiic & Bleb o eiien Gl _airerh geenn ‘A’ eeid GG, Gabt arevTist G nsmiydh
(b,

Find the cadence in the Tonic key between bars 1-8 and mark it as ‘A’ and name the cadence.

................................................................................................................................

(V) c®® mafied eni® & endewst Sudod wosim.
Brhg SyEasfdr Gund Gomad a@hhoonn afaifidds.
Briefly describe the form of this piece?

.................................................................................................................................
.................................................................................................................................

.................................................................................................................................

(vl) ¢ mifed e0Bew o R HOTID.
Ghs aubsdde Cublur Geen afendhs.
Explain the tempo of the piece

.................................................................................................................................

(vii) @@ i8¢ e0H® IS gowed eust @B, 2 g Bionms 29 wBpwes’ poiegm gulnl Hog Baumamid Go
@oBmeew enidh €806 gudmded Buln ddrmssiB aped nosts.
@Bhs apben GQmoraips sTdABG 2 fugl Sy Geim sootsst, HDms ASHGHT apa
sisiLsueSHas GUIBGSIT SmeoLnLILD By SsGHOILD CnflaGauin eGHTRs) GiLmbSGIOTm
BLBHD © L LUEGHEI.
This composition belongs to the Romantic period. From the three titles and the composers given below
choose the most likely answers and insert them in the appropriate place in the score.

» Title: Waltz of the Flowers, Serenade, Soldiers” March
e Composer: Franze Schubert, Robert Schumann, Pyotr Tchaikovsky

(viil) @l go 1 —4 @B 82 deitis O B vendd el g1 910 eeus S ¢?
Ly Beohatn 1 -4 Gasien Boas Gt Sihohd & 2 L1 aiHSHmel g enaubeit GO Gelieng?
How many times does the music of bars 1 — 4 appear in the same key throughout the piece?

.................................................................................................................................

(ix) &0 qow 17 080 Do ecdm emdes w0 Bugma Bo gy 0. & agm qpe ddmed 580 silsy owcsim.
L @evehantd 17 Ged symbtd@d Gravn mb ugd WeaiBh Saadbsi CawdiBit. opphars Hengulled

o flur @Lssled i eiufor G
The second part of this piece, commencing at bar 17, should be repeated. Place the repeat signs at the
correct place in the music.

(X) @5 qom 17 s 18 8 66828 e mbie®rfs oiBde oo &l goo 29 wo 30 wesiios md 08 o
s8I0 o cOn @ wgwel wdvis.
iy @eossn 17, 18 apdwemenn wurr Seodst 29, 30 syfueupmbdonl Gur ahaob, amrjGomaiis
syt | aieiBon @il B owmlleeesn @F @5 SEneD gk GumulL HEHIEUILLD

GOLIGBS.
Compare the rhythm and harmonic structures of bars 17 and 18 with bars 29 and 30 and write a similarity
and a difference.

.................................................................................................................................

................................................................................................................................

L -

H1O 885 500 Deatm. / ub. 10 gl unds [ See page 10
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2.

{1

(i)

(iii)

()

A el /ugdl A/ PART A

Bon® ues eCamd 88ud; vewsin.
slenenBuispitt @yeni® sflardsanby el welldbes.
Answer any two questions.

Eb e@dlc B 8der’odn ubnd goedlnes vy gredine guIded edidd 8é®wnd gmnd FHecdt 8
Banim. 088 Bdewtdde graes mzim.

EI’ Giogmy eoBaemen & AaGaiFsm o Seubimasmr HGyTomn angelsd Camsden shassbCaiu F dened
B0 aippais. b AaBarrsanfs Caidhms.

Write the E° major scale with key signature, in descending and ascending form, using F clef and
the rhythm of a waltz. Add the time signature.

G eoritetsis demced €00 vm 0885 & 48 080 Bdewtcud ogesm 8d8wmd amd ol 4m
w5 Stdnenw mUsis.

G GusiGyrelds er0Bemeilsd arbsugmimementt LILSLGHE SIUL Gaten sy AbCedamat QLmaphHi e
aibsHEhbiboHemnnnl 4 UNfsEhhera Gioalg FElsnp sapSis.

Write a 4 bar melody using notes from the G pentatonic scale, in a rhythm to fit the given time signature.

& 9B o9cio @edd Om vl o Hecd dent Bar o A e®Esed @R D g@lsd 88108
8ot ewgpis.

S Beiten Gosvigenut Guia Slensit Blab wb @dGrsh Mpna sepsl, Oins A Cmfied @eSamth allgddlsd
Fflwimsn syl sipsd Cayshea.

Transpose the given melody an octave lower in the Bass clef and add correct accidenfals to make
this melody sound in A major.

g B DU e e@eneinegs 8 B Bdews Buwim.
YL @efien  Glenheendd CoraGyrsr geimpll LUSIEHS FheConaens g,
Write a rhythm pattern on a monotone to the given words.

I love a lonely winding road

That takes me where | cannot see,

Until each softly rounded hill,

Reveals its landscaped mystery.

William Wordsworth

J

[T & 60D Baaks. / us. 1 goir unids / See page 11
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4.

(i) zoo § B c@clin @01 g8 50 gunst av gsI0dd ape ef) <o0 yobEln. age 088 BdewDos

)

wm o8 8 emesln. 608 B dewf o8 ov 80 w.dp e gort 8oa 8 movhnm.

dleienpid Giosoy Bed St Gefton eeny Gimmoisomisel, Betosbsensde gnu oG Geen Gprad
Bevarl uyeiuGaHEs. o fu egn AeGaissl, unf afamams Coidws. Boe & B Guumguth
Bead Siewt b o fHan@n v efst Guusmud GHItIGs.

Compiete the melody given below, filling in the missing notes according to the note values and intervals
indicated. Insert the relevant time signature and bar lines. Name the key and the name of the song.

(a) Perfect 4" above (b) Major 3™ above (c) Major 6" below
{d) Minor 3 above (e) Minor 7 below (£ Major 3" above
§ B i .
& L & @
lfig 7 M:;: e _’f — o i Tt : i
& o = ;ﬁ ?é_| el 1 ] = =
TN W, Lo Led L L
@ () (c} @ (& (H)
Key: Name of song:

(3) o® Qeided edmd exdbuld yod . $ed D gun Bo 8 mdiy.
Herowmd  Guuginfled cpeiny GCeompn't Qo oo o siienen. seupflar 8sm’  @MluiBsmenb
Ga1_satenilen  GLuUsIUD SIS,
There are three different cadences in the following extract. Write the chord indications and name
the cadence.

(b} goenzn &Y dm> wByules B0 [0 JO6 qowsd wdn o8 pey eBhwowd Bom »H8
mosien.
B Laly Senam't g ILGHGISDEnS Afluiner sroaflt CUpIDTmEGment LGB CLITmdsinmen
CaLcitad Bemanr a10pd), iment Guienys GG
Complete the last bar with a suitable cadence, using correct note values and name it.

g e e e

Y
e

(1) &0 & @B woln Denwd 98 senlul srgrum gBcsind miws Burm. ogenm ebBew, ecio

@9 DBl «ulies e@cdud ewisiv.

SIO Goiten Gosuigen 988 LTMIABGY GUTsSSWTET  SyEfin tjE(SUaru Cafdgil)l LratILBSeis.
Usmi@a A Gioegset Qunapssorear QuoBur, 1985dm, eLamboen Gafhms.

Complete the melody by adding an answering phrase in the same style. Add suitable marks of tempo,
phrasing and dynamics to the complete melody.

TT8

| 12 8v5 800 ey, / udh. 12 g unibe / See page 12
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B ewide /ugsl B/PART B
Ben® g ecoDO BEnc; soosis.
stemen@uisnnd Greti® elanrdbendd offenl et s,
Answer any Iwo questions.

(1) egac decd 8 By o@ciin miliednmntd 858 v 6dd dedd8 o0l grmEne®sd Bt g Quld,
D00 B, 858 oni ewdd o 8000 gog BT Buvim.
CGpfeir alensln @sd siap@i L Glicsugsnul amaTicenemey OluiaughE Gued adgrel Glsd o (Gymper
Bavdaddapeian 1 juyierd, GLr m 1flefibeb, Weafhibed sebeg GEmNGE e e1en FhHSHHIbE 6Bl e1UpHIS.
Write the triads shown by the Roman numerals, accordingly as dotted minims, minims or crotchets in
the Bass stave to harmonize the meledy writien in the Treble clef,

= 7 ; O Sas——— ; z >
4 1 . 4 ] ii 1 P I 1 1 &
-(-_:?umﬂ-—«ﬁ& 1 ; ¥ H;_M "'—79! & & ZiE /5-5
s i ”i'_'l A
B (% ) F
%
I Vb ii Vb 4 I

& comoed &ifm Sned € g 08¢ ndn 56 yelmd eudlo wdn 0d gdmden posis.
Gomimauienr Grflur EasHs0 Hyi Getsn CuwensndBmul smisgs abeuy auengenty, HpshBmin Fhibs,
ST SUERTLITS 10MHILIsOG G,

Convert the given phrase in western notation of the Sri Lankan Anthem to oriental notation.

(i)

PN 1 i } | —— : 1 e [ ez | | EEETTEEi T )
bets—a———F e i
3] H et & bl D& i i
7
IQ b Ijg ol L4 | 1 }.‘f I ;A; i ! I i 3
" H
a8y~ 7 i Ty pﬁ 174 4 &= & i ; i 1 T &
\é_)v lr 14 i ¢ Jl O H ;15{1 &

| 13 808 800 Qo / b, 13 gy umjsds F See page 13
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6. () € B 00 O 008 i@ @8 wulin Aeide ewld dendl HOWD mdn Bewslis.

Sy @eiten sr0Eyel Semeoit LuGIBHSE Bibe Gensd siswn. shmer Gagm’ ab@mny apsppuisd WeaED

SHID&HID.

Re-write this passage in short score using the given stave.

~ [} & | i . LI ! 4 O

b S a3 s
= s ¥ 1o o e

v E | i -
S o ! e
] 1
Rl rrs eIt rrrfor i
I I I i H i T : i I E “_"'l_m"' | i
S , m
] i 1]
e s e p
i 1 i l i {
— m i3 h
e = ' — s = ]
o e e
(i) (a) CRgs derdced €00, & 18 delded ogdc Becd ewigp Sovim.
C vemed ebBaedlal ebaugmmensnd SIUILC Beiten srbCrsit Bt | Ginlelt al@smal tuSLIBSS STIDEHIE.
Write the notes of the Blues scale on C in the given stave in the Treble clef.

(b) &t woBmed Do cregasd 8wy’ wosim.
eqmerd @engullstt (pd&iwl Lsmblursinps i Bs.
State an important feature of Jazz music.

(c) @emedgbi §DB5E uirED il ©.dm ©r1add) scos 8 md, 8Dy emdews? Budnd wdzim.
ROHaLIT @Els ) ala. GHELLUGHISS o _fiul Baadonmealssd Gyemedr CLTamend GRta @,
Semand &nasns alafldms.

Name two instruments that belong to the woodwind family in an orchestra and briefly describe each.
B L0 0 O Y S S SIS
B2 v S8 8 B A SRS R 3 58 5 S0 3 S S R

J
| 14 085 808 Deao. / ue. 14 g uapdes [ See page 14
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7. (i) ovo § g8 Jos8s dmed coudes obod Sdnd mivlo.
#SCip syl Gshaneumniied sj@amid @aufienan © guysomiaen o silsufloes.
Explain one of the following with examples.

Vannam, Raga, Prashasthi

........................................................................................................................
........................................................................................................................
........................................................................................................................
........................................................................................................................

........................................................................................................................

{il) oo @udo DB cbmn ne Bbowus »HE Bouls.
Heiin@pd spbansalar Baes sibonhiseaiian CLTHmET 6IIpSISD.
Write the name of the composer of the following compositions.

Composition Composer
1 | Young Person’s Guide to the orchestra
2 | Rite of spring
3 |The Entertainer
4 | Rhapsody in blue

(iii) (a}) ©®® DBy’ B gowmo gu o8 ¢?
Eubs sndbambol abomd STe0dSHEE 2 fluisaamgn?
Into which period do these compositions belong?

.......................................................................................................................

(b) e gvwd ewg §f Ciloes ecw waws’ BUBL.
Baancoidiesiu Brewi® Gy ussi maand G IGs.
State two common features of this period.

........................................................................................................................
........................................................................................................................

........................................................................................................................

(iv) e sldn gueoosl oem @ffudded LOE® ¢HBows. (BisE ow DEFNed, wed glc
Bz mefilond®, edemitl mafinag® offos! Hm weclinen)
UTLETeme) Sens  oubmissssist urGUDmInISasTM Wpdalubhgieubmad GHRUIGS. (UILsTme
Benad@up, LT arama auThAd@iy, brsBarL) Gup UREgUBDID Se6) [Hioblpe)ssir)
State the value of participating in school musical performances. (such as school choir, school band,
and recorder group concerts)

........................................................................................................................

........................................................................................................................




